& 28N BIER

10 - 20 - 305X DEB SH7E2H248
IE fi K £ ouT I N TOTAL| HDCP NET
& B FHE 49 47 96 22.8 73.2
SE(ER REER 43 42 85 9.6 75.4
3 fif fiks FREE 52 61 113 36 77
4 i X R=HR 54 55 109 31.2 77.8
5 i wHE —= 45 45 90 12 78
B-B AF BE 67 62 129 36 93

405X DER
IE fi K 4 ouT I N TOTAL| HDCP NET
& B EX TN 46 44 90 18 72
HEBR REHEE 47 53 100 26.4 73.6
3 i =% Rt 47 49 96 21.6 74.4
4 i PR 50 47 97 21.6 75.4
5 i =EEF 52 54 106 30 76
B-B EMA &7 56 58 114 31.2 82.8

50iZ L DEB
IE fi K 4 ouT I N TOTAL| HDCP NET
BB BK &R 43 44 87 15.6 71.4
HEER %M 5 44 46 90 16.8 73.2
3 fif =K H=EB 42 42 84 9.6 74.4
4 i s 48 45 93 18 75
5 i KE Eth 47 43 90 14.4 75.6
B-B Al #Hi 63 62 125 36 89
60iZ LD EB
IE fi K 4 ouT I N TOTAL| HDCP NET
& B FIE8 B 47 41 88 15.6 72.4
HEBR Il BE 44 47 91 18 73
3 fif B4 am 45 44 89 14.4 74.6
4 i RS STRE 49 51 100 25.2 74.8
5 i BHEE 49 47 96 20.4 75.6
B-B A BB 53 58 111 28.8 82.2

70 - 80iFAK DEB
IE fi K £ ouT I N TOTAL| HDCP NET
& B M 2R ER 45 42 87 16.8 70.2
HEBR HHIEA 39 41 80 9.6 70.4
3 i Wk E 46 45 91 20.4 70.6
4 i HE = 39 41 80 8.4 71.6
5 i EF i3 44 48 92 19.2 72.8
B-B i FE 51 59 110 27.6 82.4




